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Sub-Section Number: 1
Sub-Section Id: 335472108
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354724931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following was the Chief minister of Madhya Pradesh during 1977-78? | a4 1977-78 % aR,
T & & @19 7w % gagadr 9

Correct : 1 Wrong : 0

Options :

1. ¥ Kailash Chandra Joshi | &erst =g st
2. ® Ram Vilas Paswan | UF &g uree=
#® A B Vajpayee | T dl st

4. ® Digvijaya Singh | e &g

w

Question Number : 2 Question Id : 3354724932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The river whose name means 'Giver of Pleasure' is: | g Jol Foadr 9 @7 arf “Taw o qoiee g, @i |1 &
Correct : 1 Wrong : 0

Options :

1. ® Chambal =&
2. ¢ Narmada | JdaT
#® Tapti | Il

4. ® Betwa | ddar

w

Question Number : 3 Question Id : 3354724933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The most % pular form of singing armong the Nath comrmunity of the Malwa region is recitation of | HIeaT &7 &
Y, THHT TEa U185
Correct :1 Wrong : 0

Options :

1. ¢ Bhartrihari folklore | Wdgit @RI
2. ® Nirguni songs | oyt i

# Phag folklore | BT FleTrIT

4. ® Garba songs | TRaET T

w

Question Number : 4 Question Id : 3354724934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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India’s first gymnast Dipa Karmakar who got qualified for Olympic belongs to which state? | TR & Ugel

Correct: 1 Wrong : 0

Options :

1. ® Gujarat | TR

2. ¥ Madhya Pradesh | Aea neyr
3. ¢ Tripura | g

4. ® Manipur | AT

Question Number : 5 Question Id : 3354724935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following Indian award in science and technology is given by the CSIR? | g & & @19 a1 ard
REFR, o dingengsr grT o s deimedr o foar smar g2

Options :
1. ® Jamnalal Bajaj Award | SHATEATH e QERTT

2. ® Hari Om Ashram Trust Award | giC ST 3P 78T JEFR

3. ¥ 5.5. Bhatnagar Award | U8 UH 9ZATR [EHR

4. ® VASVIK Industrial Research Award | areaie el Srgae [TErR

Question Number : 6 Question Id : 3354724936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who led the first Indian solar eclipse expedition to Jeur in 18987 | 1898 H X T&F WIW WRd 19 G Tg0T ST &7
g Torae o ar?

Correct : 1 Wrong : 0

Options :

1. ¥ MK. Vainu Bappu | TH.#.aq avg
2. ¥ K.D. Naegamvala | & .S 3THaTar
3. #¥ AL Narayan | UUa FRR07

4. ®# C Nagaraja Iyer | |1 AR SRR

Question Number : 7 Question Id : 3354724937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which one of the following states does the Aravalli range of mountains lie in? | gfeTET # & fow toa o srraw!
TdaH T T &
Correct : 1 Wrong : 0

Options :

21st Dec 17 Shift 1



21st Dec 17 Shift 1
¢ Rajasthan | T9eI=
# Madhya Pradesh | 7ed Wear
# Punjab | ST
# Uttar Pradesh | IoTUSY

o L

Question Number : 8 Question Id : 3354724938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Government of India has recently (Septermber 2015) launched the PMKKKY which will work for the welfare
of areas and people affected by: | YR AR = 5T &1 (X 2015) HT Hurdrars @ AR frar s for _______
EIRT WA ST 37 @ o FeamoT & Toig & deait |

Correct : 1 Wrong : 0

Options :

1. ¢ Mining activities | &= Tia et
2. ® Natural calamities | Wgd® MUTT

3. ® Insurgency | @3
4. # Industrial development | sfeniie® e

Question Number : 9 Question Id : 3354724939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘International Day of Peace’ is celebrated on
FT AT ATaT 2]

_____________ of every year. | ‘Saxigra aifd foaa nqde® ad

Options :

1. ¢ 21st September | 21 @dax
2. ® 22nd Septernber | 22 T@dex
3. # 23rd September | 23 @Faw

4. ¥ 24th September | 24 &gex

Question Number : 10 Question Id : 3354724940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The word ‘secularism’ was added to the Preamble of the Constitution of India by which amendment? | T
G ZRT VR & QI &l TEaTaaT # (H-UeaT e &l 1S 1T 7T 417

Correct : 1 Wrong : 0

Options :

1. # 40th [ 40d
2. ¥ 42nd | 42
3. ® 44th | 444
4. ¥ 46th | 464
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Question Number : 11 Question Id : 3354724941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Indian men won the Kabaddi World cup 2016 by defeating_______. | AR 9o Fast, b w2016 ® ________
T FTHT SAid 9N

Correct: 1 Wrong : 0

Options :

1. ® Nepal | s9me

2. ® pakistan | uTireaT
3. ® Bangladesh | aaRy
4. ¢ Iran | g4

Question Number : 12 Question Id : 3354724942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The words 'Satyameva Jayate' inscribed below the base plate of the emblem of India are taken from__________.

| VR & T T 1o o SR Tele o Arel Sifohd 'egd 94" Seg &l _________  forar T 3
Correct : 1 Wrong : 0

Options :

1. ®¥ Bhagawad Gita | WTTaq Tiar

2. ® Rig Veda | =g

3. ® Kathopanishad | Famigg

4. ¥ Mundakopanishad | §S®ui-9g

Question Number : 13 Question Id : 3354724943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Namami Gange’ is a project for___________. [T & 1ol e Tl 21
Correct : 1 Wrong : 0

Options :

1. # worshipping River Ganga | TITT J¢T & GofT &

2. ® taking care of people bathing in Ganga | T # W= T =Tl 7N &1 S@HTA T
3. ¥ cleaning river Ganga | T 951 &l @61

4. ® linking Ganga and Yamuna rivers | T 3 g1 Afet &1 Ae

Question Number : 14 Question Id : 3354724944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

National Institute of Rural Developrment & Panchayati Raj is located at _________. | T T e Od ved T
T GG _________ 7
Options :
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#® Ranchi | T
# Madurai [ AgE

¢ Hyderabad | 3eXm@g
® New Delhi | 72 &wel

o

Question Number : 15 Question Id : 3354724945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who won the Jnanpith Award (52nd) for the year 20167 | a§ 2016 # fora Imdia [REwR (52 @) Sar?
Correct: 1 Wrong : 0

Options :

1. ¥ Raghuveer Choudhari | THaR Ttert

2. ® Kedar Nath Singh | FgrarT &g
3. ¢ Shankha Ghosh | 99 919

4. ¥ Chandrasekhara Kambara | TZ3Et He

Question Number : 16 Question Id : 3354724946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following was a devotee of Goddess Harsiddhi? | MuAfaiEs & & @19 &t guiahg @1 uw agq ar
Correct: 1 Wrong : 0

Options :

1. ¢ Vikramaditya | T

2. ¥ Chandragupta Maurya | @gqa g1
3. ¥ Ashoka | 319w

4. ® Akbar | s/Fet

Question Number : 17 Question Id : 3354724947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For what field of work has Battobai from Gwalior achieved international repute? | Teiat § aglaTs o g &8 &
87 H SIS T U @ a?

Correct: 1 Wrong : 0

Options :

1. # Textile weaving | I&il &1 gT8
2. ® Folk painting | #@ =@

3. ® Stone carving | Ye¥RT UT Ag=LT
4. ¢ Doll crafts | igar few

Question Number : 18 Question Id : 3354724948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

21st Dec 17 Shift 1



21st Dec 17 Shift 1

Where are the relics of Lord Buddha's disciples, Sariputra and Maha Mogllayana kept? | Wﬂg@ﬁ:‘fﬁf@‘,
TR 37X AT ATAATT o STy Pgl & T 37
Correct : 1 Wrong : 0

Options :

¢ Sanchi | @it
# andher | sfeR
# Satdhara | GTURT
# Ranchi | TT

o A

Question Number : 19 Question Id : 3354724949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the famous fort in the district of Bhind? | g et # nideg frem #19 @1 872
Correct : 1 Wrong : 0

Options :

General Maths and General Aptitude
1. #® Asifgarh | s
2. ® Hinglajgarh | fgmamnmg
3. ® Hindola Mahal | Betar aga
4. ¢ Ater | 3T

Question Number : 20 Question Id : 3354724950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where in Madhya Pradesh is the Central Farm Machinery Training & Testing Institute located? [ REawey # & d
HTH HTET NTSS0T Ue qeieT e #ET T 87
Correct : 1 Wrong : 0

Options :

1. ® Bhind | ¥g
2. ¢ Budni | geAT
3. # Burhanpur | g

4. ® Betul | ogd

Section Id : 335472109 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
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Number of Questions to be attempted: 1
Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472109
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354724951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A group of children riding on bicycles and tricycles rode past Balu’s snack shop. Balu counted 7 children and
19 wheels. How many tricycles were there? | a% Eal qgﬁ ar SR 1 ulear Agfehal U HaR I o] 1 A19d &1
T TERAT g1 a7 el 8 19 gt & et @ agl GICH e fopet <T?

Correct : 1 Wrong : 0

Options :

1. 82
2. 83
3. %8 4
4. ¢¥5

Question Number : 22 Question Id : 3354724952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 22 - 4x - 9 =0, then the value of (x — 1)2is: / ATE 2x2 -4x-9=0 %, ar (x— 1) &T AT %:
Correct: 1 Wrong : 0

Options :

1. 8 4
2 8 g2
3¢ 112
4 85

Question Number : 23 Question Id : 3354724953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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10 100 1000

Correct: 1 Wrong : 0

Options :

1. ¥ 0298
2. % 148

3. v 01486
4. ¥ 00146

Question Number : 24 Question Id : 3354724954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is NOT a perfect square? | fMgfcaa & & @19 Ue quf ari 9g1 57
Correct : 1 Wrong : 0

Options :

Question Number : 25 Question Id : 3354724955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | 3f/|a Id ®¢ |

S5, 65, 32, 34, 24
Correct: 1 Wrong : 0

Options :

1. ¥ 40
2. % 41
3. ¥ 42
4. % 43

Question Number : 26 Question Id : 3354724956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0
If the length and breadth of the rectang%g are 6 cmand 7 cm respectively, then the area of the rectangle 15___.

| TTE AT HT AGTE T TSTE FHT: 6 FHT ST 7 QAT B, TT ST FT §T6eT
Options :

1. ¥ 42 5q.cm

2. ¥ 255q.cm

3. ¥ 21 5g.cm

4. ¥ 135q.cm

Question Number : 27 Question Id : 3354724957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The average of the eight numbers 102, 202, 302, 402, 502, 602, 702, and 802is _____. | & "Egnet 102,
202, 302, 402, 502, 602, 702 T 302 & fEd 2

Correct: 1 Wrong : 0

Options :

1. ¥ 402
2. 8 502
3. ¥ 552
4. ¥ 452

Question Number : 28 Question Id : 3354724958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ig%rr father is 49 vears old. He is 4 years more than three times of my age. What is my age? | W iar4o ed & g1 o
AT & A T 4 o arfer a2 81 WY g 94T 87

Correct : 1 Wrong : 0

Options :

1. ® 16
2. % 18
3. % 14
4. ¢ 15

Question Number : 29 Question Id : 3354724959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arjun and Bhaskar start a business investing Rs. 40,000 and Rs. 60,000 respectively. At the end of the year,
Arjun’s share of the profit was Rs. 10000. What was the total profit? | SKj- T #EH 4 FHT: 40,000 204 FT
60,000 U &7 (S ek Teb TR T IR Tohem o o aF § SR o @1 @7 fgedr 10,000 20 9 el d feha=T 417

Correct: 1 Wrong : 0

Options :

# Rs. 15000 | 15000 #02
¢ Rs. 25000 | 25000 T2
# Rs. 20000 | 20000 702
# Rs. 30000 | 30000 *42

ol A

Question Number : 30 Question Id : 3354724960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Find the value of 4 (4°+99-2x 6%). / 4 49+ 99-2 x 6%) &T HIF ATd |

Options :

1. %2

2. % 4

28 4

490

Question Number : 31 Question Id : 3354724961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following could be the measures of the angles of a right triangle? | U% GHeIT 0T & HI0 & AT
FIT 5 AFd 57

Correct : 1 Wrong : 0

Options :

1 % 80°, 40° 60°

, ® 45°.65,70°

3 o 30° 60°,90°
4 % 100°50° 30°

Question Number : 32 Question Id : 3354724962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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How many terms are there in an AP of the series 10, 12, 14, 186, ..., 807 [ 4@aT 10, 12, 14, 16, ..., 80 &I GH@ET
it # fora ug £7

Correct: 1 Wrong : 0

Options :

1. ¥ 34
2 % 35
3 ¥ 36
4. ¥ None of the above | 590 & FIE g1

Question Number : 33 Question Id : 3354724963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Remya is leaming drawing. She makes different tvpes of shapes. How many straight lines she

needs to draw to complete the figure? / X&aT Fear d@ Br %I dg fdffied YR &
HFHR dardl 81 38 &7 & 9of e & v 33 fraeh el Y@ [kg s &
TGTFHAT 87

Options :
1.8 12
2. %13
g% 1a
4 % 15

Question Number : 34 Question Id : 3354724964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum value of F in the given equation SE9 + 2F8 + 3G7 = 1114is____, where E, F, and G stand for
any digit. | FETcRET GH@or SE9 + 2F8 + 3G7 = 1114 HF fT efaaA A 5_______ , METE, F, G Tordl s & n 1 31

Correct: 1 Wrong : 0

Options :
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1% §
2.¥9
3 87
4 85

Question Number : 35 Question Id : 3354724965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which rational number should be subtracted from;—S to get 2 ?/ % gred R & o ‘?5 peg
¥ fha 9RAT I&aT & gaar arfge?

Correct : 1 Wrong : 0

Options :

1. v -23/18
2. ® -7118
3. % 11/18
4. ¥ 23/18

Question Number : 36 Question Id : 3354724966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The average of the numbers 204, 404, 604, 804,1004, 1204, 1404, 1604 is____. | wETst 204, 404, 604,
804,1004, 1204, 1404, 1604 &7 3ff|a L

Correct : 1 Wrong : 0

Options :

1. ¥ 904
2 ® 804
3. % 1004
4 % 1104

Question Number : 37 Question Id : 3354724967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The total prime numbers that come before 100 are: | 100 & Uget 3T el SR TEATH! &l Fel TET 5:
Correct: 1 Wrong : 0

Options :
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1% 23
2. % 24
3.¥ 25
4. ¥ 26

Question Number : 38 Question Id : 3354724968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the ratio of the number of thirty-one days months to the number of thirty days months of a vear. | U a4
# ggpd1a Tt & ATg & die fot & A1g %7 arguTa A @

Correct: 1 Wrong : 0

Options :

1. 8 4.8
2 8 g5
3.¢¥ 74
4 ® 5.6

Question Number : 39 Question Id : 3354724969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A, Band C have a contract work for Rs. 550. Together & and B are supposed to do 7/11th of the work. How
much does C get? | A, B 3T C & U 550 304 & & BT F14 51 A W E & UHary & &7 711 T &1 g C &t
ToRa=IT &< UTH §1a7 87

Correct : 1 Wrong : 0

Options :

General Hindi
1. ¥ Rs. 310 | 310 ¥
2. ¥ Rs. 200 | 200 70
3. ¥ Rs. 350 | 350 &0
4. ¥ Rs. 175 175703

Question Number : 40 Question Id : 3354724970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If a bicycle wheel, diameter 56 crm, is making 45 revolutions in every 10 seconds, then the speed of the bicycle
in kilometer per houris___. | aﬁ:w%rgﬁmrr%m e =9 56 9T 3, ned@ 10 vz i 45 UNRGEAT AT 8, T
TS ToRet &1 Mid fpemAee Uid T ® _____ 2

Correct : 1 Wrong : 0

Options :

1. ¥ 27 215 km/hr { 27.215 o
2. ¥ 28512 km/hr | 28.512 ToFT{ee
. ® 20 km/hr | 20 TrdT e
4. ® 28 kmjhr | 28 T e

w

Section Id : 335472110

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472110
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354724971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T o & -
Correct : 1 Wrong : 0

Options :

1. vy
28
il
4837

Question Number : 42 Question Id : 3354724972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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eI F RO d____________ U FAT § ol 20d TR’ FEATd g
Correct : 1 Wrong : 0

Options :

1. ® arfdw
2 & Frar
4. ® sregies

Question Number : 43 Question Id : 3354724973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HATH ‘g vl TrearT ISTEC0T 37
Correct : 1 Wrong : 0

Options :

1. ¥ EogeaeE
2. 8z
3. ¥ agHIR
4 % TR

Question Number : 44 Question Id : 3354724974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Options :

1. ®* &g
2. % Fh

S vz i g
4. ®

Question Number : 45 Question Id : 3354724975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

TEEAAA__________ AT 31’ 5 AT | IRAT AT @ I g |
Options :

1. ¢ &

2. ® FmT

3 ® g09

4. ¥ grg
Question Number : 46 Question Id : 3354724976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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O T U g § @ T 87
Correct : 1 Wrong : 0

Options :

1. ¢ @raieT
3. ® gead
4. % s

Question Number : 47 Question Id : 3354724977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘o grr d T g & o uw geg g A d @ arg?

Correct : 1 Wrong : 0

Options :

7 T i
""S'G

AW N e

Question Number : 48 Question Id : 3354724978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TG AT g1 % ol U e g H @ @ |1 g

Correct : 1 Wrong : 0

Options :

1. ¢ giifas
2. ® grig
3. ® gridy
4. ® g

Question Number : 49 Question Id : 3354724979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘SEFER FT A e Mg R Fm arg?

Correct : 1 Wrong : 0

Options :
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1. ¥ EA+ITHFRT
2. ¥ EH+ER

3. ¥ EH+eER
. ® A+

NN

Question Number : 50 Question Id : 3354724980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

YREFR FT A Seg Mg A G FT ATF?
Options :

1. ® gy

2. ¥ g

4. % ZzT

Question Number : 51 Question Id : 3354724981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ST MedT O 4T e M H § B 87
Correct : 1 Wrong : 0

Options :

1. % o
2. ® 3=mET
3. ® sEEET
4. ¢ 79

Question Number : 52 Question Id : 3354724982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘g geg ¥ g & 919 9T 9HE 27

Correct: 1 Wrong : 0

Options :

1. ¥ FHyRy quTE
2 ® dcyey 9ATd
g |aE

4 ® ag,cﬂig LSERIES]

w

Question Number : 53 Question Id : 3354724983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Uz @ @Y ggrek F1 enf Mg A @ arg?

Correct: 1 Wrong : 0

Options :
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1. ¢ O I A gRAT
2. ® gz & g Rar
3. ® gETEET
4 ® ggaram

Question Number : 54 Question Id : 3354724984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HA BT g ©F TG H A H A7

Correct: 1 Wrong : 0

Options :

Question Number : 55 Question Id : 3354724985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

W Y, 9 Y, ITH G a8

HIT 9g HR-TA18, 91 41 A7
A A Mg H A BT AT E?
Options :

1. ® g™

2 ¥ W

3. vV am ™

4 ® gRTE

Question Number : 56 Question Id : 3354724986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ST & 93¢ IR
T < G759 U,
T T =g@ g7 39 arl”

# @ T SR gl Wyl ey gi=g?

Correct: 1 Wrong : 0

Options :
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1. ¥ §3g sEFR
2. ® AT AR
3. ¢ arfdeEie SEwR
4. ® IehyT AHFR

Question Number : 57 Question Id : 3354724987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JUET S Fe ST U 91T UG B Tl 6g Uit 1 =]

Correct: 1 Wrong : 0

Options :

2. ® wmide, Ukdw, IUTHT, e
3. ¢ SEATT, arg@eiy, SITHEE, sumTHT
4. ® 379, Sigew, g, @TamiRd

Question Number : 58 Question Id : 3354724988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ier &1 Tt ikt # @ 91 el § -

T G AW g7, SR feg faaia
mmgt?t_;rrﬁrtﬁ‘( ERIZELERI

Correct : 1 Wrong : 0

Options :

1. ¥ yiFaenis sewT
3. ¢ a1 SE@T
4. ¥ 2w AT

Question Number : 59 Question Id : 3354724989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

TESTI-TI=T SITHT -WIUTe ZRT TS ‘AT Ui & -
Options :

1. ¥ [iidew

2. g

3. ® FemTiEE

4. % grige
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Question Number : 60 Question Id : 3354724990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SRR # T ST A ey
Correct : 1 Wrong : 0
Options :
1. ¥ 3
2. % g
o ™ gF
31
Fural Econcmy and Fanchayati Raj
Section Id : 335472111
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472111
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354724991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who maintains the accounts at Gram Panchayat level? | TTH U=ITad €9¢ U A@TITeA &1 $XdT 57
Correct : 1 Wrong : 0

Options :
], ChairpefSOﬂ | STEgE
2. ® Group of members | G FT AUE

. ¥ Secretary | g
. # Vice Chairperson | JuTedy

Ll

LN

Question Number : 62 Question Id : 3354724992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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The objective of formation of Gram Sabha as envisaged in the Madhya Pradesh Panchayat Act 1993 is: | Az
TS U= SrtATaem 1993 # ultericud UTH @HT & T3 &1 3899 &

Options :

1. #® To elect the secretary of the Panchayat | U=mad &7 Gicd ga1

2. ® To mobilize funds for development | Tawma & g emaid JeMT

3. ® To try the civil & criminal cases | G AT & STORTTS GHEHT 1 GAATS HCAT

4. ¢ To place direct political power in the hands of people| Weag THHITd® SITEHER TH 94T & §1T |7

Question Number : 63 Question Id : 3354724993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following is NOT a major spice grown in Madhya Pradesh? | Fgiaiaa # @ @1 91 7ea ngar §
ST AT ST Uek WG HATAT Tg1 57
Correct: 1 Wrong : 0

Options :

1. #® Chillies | oref

2. ® Garlic | @igga

3. ® Ginger | 3XF

4. ¥ Cardamom | SATRET

Question Number : 64 Question Id : 3354724994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the objective of Balram Taal Yojana ? | SeXTH JTa AT &1 F47 3599 57
Correct : 1 Wrong : 0

Options :

1. ¢ Increase ground and surface water & conservation of rainwater | 4 3 Gag &7 el 3 TGT HT el AT
2. ® Irrigation of fields | @af &1 €= wear

3. ® Provide drinking water | U1 el I FCAT

4. # Building dams | a7 a==T

Question Number : 65 Question Id : 3354724995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is NOT a crop season in India? | YRa # FgAATEd § & &9 97 GG @ (Bdc &1 §198) Ta1 57
Correct: 1 Wrong : 0

Options :

1. ¥ Zaid | 9T
2. ® Khariff | @0
3. ¥ Rabi | @it

4. ¥ Inter crop | EeT@
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Question Number : 66 Question Id : 3354724996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the financial assistance per unit provided for house construction alone in plain areas currently under
Pradhan Mantri Awas Yojana - Gramin ? ad AT # T H3T ST T - TTHIT & Glﬁ'l‘gfﬁaFﬁ g3t # w7 & fomi & g
nideats ra-t e SgT=aT ne &1 At 27

Correct: 1 Wrong : 0

Options :

#® Rs. 50,000/~
#® Rs. 70,000~
#® Rs. 1,00,000/-
. ¥ Rs. 1,220,000/ -

el M

Question Number : 67 Question Id : 3354724997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the prime objective of Pradhan Mantri Fasal Bima Yojana? | WelaaT Bae aaT AT &1 747 Jd 3549 37

Options :

1. # Life insurance for farmers and farnilies | Tram=l 3T 3% URART & g SHa @7

2. ¥ Insurance protection for notified crops in notified areas | s &1 # sfdgicd waat & Ty ST geam
3. # Insurance for all kinds of crops in selected States | giHar teal # @t yaR H1 waa! & @y efftar

4. ® Transportation and marketing of crops | B&a! #T Uiaga Ua f&uoe

Question Number : 68 Question Id : 3354724998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A3 per 4th Advance Estimates for the year 2015-16, the total food grain production was estimated at: [ @
2015-16 @ 4 ATUT SgAM! & AR, Fel QIeiTg &1 AFAT AT TT=T 9T

Correct : 1 Wrong : 0

Options :

#® 266.32 MT
' 252 22 MT
® 24186 MT
® 24022 MT

ol L

Question Number : 69 Question Id : 3354724999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The Egr% %x;er Crop Insurance Scheme in India was launched in: | YRT # a9 Ugel B AT DT g ieriad a9 o
IR :

Correct: 1 Wrong : 0

Options :

1. ¥ 1972
2. ® 1979
3. % 2014
4. ® 1997

Question Number : 70 Question Id : 3354725000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AS per the Agriculture Census 2010-11, the Gross Cropped Area (GCA) in India was estimatedat _________
million hectare. | F JATET 2010-11 & SJAR, YR H Tebel BaeiT &7 (SHE _________ Taferer garee] § argaTi=a am

Correct : 1 Wrong : 0

Options :

1. ¥ 193.76
2. % 1060.17
3. % 186.87
4. ® 194586

Question Number : 71 Question Id : 3354725001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Madhya Pradesh Gram Panchayat (Regulation of Sale of Meat and Preservation) Rules came into forcein _____.
| T T UTH U (HT 31T Tieeior ot feleht @ oy fomr _______ H yra # Srmem

Options :

1. ¥ 1983
2. ¢ 1998
3. ®¥ 2001

4. ¥ 2013

Question Number : 72 Question Id : 3354725002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Prad%an' Mggtgr%] Fasal Bima Yojana (PMFBY) was launched in: | WeT-AAT GEa AT F19T (HHT G ETE)
________ T

Correct: 1 Wrong : 0

Options :
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® 2014
® 2015
v 20186
® 2017

5

Question Number : 73 Question Id : 3354725003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Mrida Swasthya Patrak’ is a scheme of Department of Farmers Welfare and Agriculture Development in MP

relating to________ ? | ST Ty UFE Weavey # Trar deeor auT iy foemre T i uw AT e S T HaraT 3l

Correct: 1 Wrong : 0

Options :

# High quality seeds | J= ToTaqar atel s
¢ Soil testing | HaT TO&T

# Organic manure | Jfew @E

# Health of the farmer | Fram & @y

o A

Question Number : 74 Question Id : 3354725004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the amount allocated for Mahatma Gandhi National Rural Emplo;rment Guarantee Scheme in Madhya
Pradesh Budget 2017-18 7 | Weld W H HTHT el A9-et & THUATGHE TR T Gehid & Toig e 2017-18 g Torasit
LTI ST @l T 37

Correct : 1 Wrong : 0

Options :

# Rs. 1000 Crores | 1000 #0E
¥ Rs. 2000 Crores | 2000 #IS
# Rs. 3000 Crores | 3000 #0Ig
# Rs. 4000 Crores | 4000 #IS

o A

Question Number : 75 Question Id : 3354725005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is National Institute of Plant Health Management located? | TEI aaedid QaTaed Teeld SEIT Fgl ed a7
Correct: 1 Wrong : 0

Options :
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1. ¥ Hyderabad | g
2. ® Delhi | Rzt

3. ® Bangalore | @A~
4. % pune | qor

Question Number : 76 Question Id : 3354725006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In which of the following states was North-Eastern India's first Kisan Call Centre opened in 20157 | fgiaiad
Tt # & Forad JoR-di IRa 1 UgT fdT @id ded 2015 H FiaT T 917

Options :

1. # Assam | 3@H

2. ¥ Nagaland | ATTAS
3. ®¥ Meghalaya | Ra@g
4 ¢ Tripura | By

Question Number : 77 Question Id : 3354725007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is Sharecropping ? | AT GEa F4T 57
Correct : 1 Wrong : 0

Options :

1. ¥ Landowmer cultivates the crops and takes the entire crop as his share. | Y-FaTHl BH ITEAT 7 3T GXT HH &
3 309 & &7 # @ F daT

3. ® _Teng_?Tt gc]ultivates and takes the entire crop as his share. | FTCHFR G AT & X G HHA BT 0 fgedd &F &7
(e et

3. ¢ Landowner allows a tenant to use the land in return for a share of the crops | Y-FaTH! H1T FR B Qdl FT
JUNT T a7 & 3T 92t § GHdA! °§ & ST TBedT &d 71 81

4. # Tenant cultivates and shares the crop with entire village | HTEHR G ITTAT & % G 7T F1 fgear a7 gl

Question Number : 78 Question Id : 3354725008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Saansad Adarsh Gram Yojana was launched in the year: | 976 Mg UTH FiSHT 7 e Tommferad e # fowerm mam o
Correct : 1 Wrong : 0

Options :

1. ¥ 2000
2. ® 2006
3. ®¥ 2010
4. v 2014

Question Number : 79 Question Id : 3354725009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Computer Knowledge
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Who was the first ever Union Minister for Agriculture? | WIH Faia F8 HAT B9 97
Correct : 1 Wrong : 0

Options :

1. # Shyama Prasad Mukherjee | SITHT THTG G&1
2. ® Rafi Ahmed Kidwai | ThT sEAg forgag

3. ¢ Rajendra Prasad | TI= TE1E

4. ® Amrit Kaur | 3T &1

Question Number : 80 Question Id : 3354725010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which armong the following is associated with the term “Operation Flood”? [ Fafeiad # & @19 €T eg "siToa

TAS" q ST 87
Correct : 1 Wrong : 0

Options :

1. # Increasing livestock production | TJeH JeuTeA H Jhg
2. ¥ Increasing dairy production | T Jeure H ghi

w

# Increasing forest cover | a9 R0 H Thy
4. ® Increasing grazing land | Iro it # gig

Section Id : 335472112

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472112
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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;Iglg_i%r‘lterface which allows connection to a web page is called as: | g §eXhd, S dd U & F1e @l SFgATT SaT 8, 36

Correct: 1 Wrong : 0

Options :

1. ¢ Browser | AT39

2. ® Tool | T&

3. ® Operating systemn | TR &ed
4. ® Server | At

Question Number : 82 Question Id : 3354725012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IP stands for: | IP &1 Q0 &7 &:
Correct : 1 Wrong : 0

Options :

1. ¢ Internet protocol [ 2TAT WEidia
2. ® Interface program | T TIUTH
3. # Internet program | E2=T HTH

4. ® Internal protocol | Eedd M i

Question Number : 83 Question Id : 3354725013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To protect and seCure\‘“%i?ur computer and to prevent others from hack;_rl'fé into the system, you should: | s+
FHIIET 1 G & fog gﬂﬁaﬁ%ﬂm T BTeRTT © el o T, SITeRT THH &1 AT AT

Correct : 1 Wrong : 0

Options :

# Not use MS Office software | UR.UE. 3Tha ST FT JUANT A51 HAT AR
¢ Maintain a strong password | 9T TFaS a-THT aTigy

# Not browse internet from the system | TqeH & §23¢ A3 o] FCAT ATRT
# Disconnect the computer | FHILT F [SGHAEHE T AT ATTeY

ol L

Question Number : 84 Question Id : 3354725014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
A windows systermn IMOonitor pr OEI‘&I‘H that shows what pPrograrnis and services are running in the computer 15

called ____________. | e THER AT W T I8 AT 3 T FHUET # P14 & UITH 797 9aTd O <ol o,
Options :
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1. ® Task Bar | TEF aR-

2. ® Navigation Pane | dfamee o9
3. ® Desktop window | S¢F 20 9T
4. ¢ Task Manager | TTHEF BaK

Question Number : 85 Question Id : 3354725015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following refers to the horizontal cells that can contain information? | o= & & 39 giitiee ded @1
AT T AT 3 o-H a1 GHTRT 57

Correct: 1 Wrong : 0

Options :

1. #® Columns | G (FHTem)

2. ¢ Rows | U4 (T0)

3. # Horizontal scrollbar | gIR=icd Qwiaar
4. ® Ribbon | f&q

Question Number : 86 Question Id : 3354725016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

____________ are dividers that split a worksheet into Eb§(e_d£)arate pages for printing. [ _______________adfow~@ g
& ST g adhiie @i e & Toiy srarT-arem qyat # e

Correct: 1 Wrong : 0

Options :

1. ® Print Area | iz uftar
2. ® Sections | AFITH
3. ¢ Page Breaks | U sgd
4. ® Margins | #TE

Question Number : 87 Question Id : 3354725017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is it possible to send an email, without mentioning subject line? { 2T &A1 o #7 Ideia Ty U SHa ST 997 87
Correct: 1 Wrong : 0

Options :
1. ¥ No | =gl
2. ¥ Yes | 7T

3. #® It will ask for subject | Taw= & oI sEHT ATT FHIT
4. # None of the above | IWIFT § & FIE 751
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Question Number : 88 Question Id : 3354725018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is a Search Engine? | FRiaiEd # & ®19 a7 U ¥ 599 37

Options :

1. ¢ Microsoft Bing | ATE®ETE T

2. ® Google Chrome | TOT# #1F

3. ® Mozilla Firefox | AT BRRGTTE
4. ® Apple Safari | OoUa GHT

Question Number : 89 Question Id : 3354725019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich one of the following acts as a mediator between the user's program and the hardware? | ﬁqﬁﬁ‘ﬁm

T & WIUTH TUT ZIEdaT & W[, eIy & &7 # F1 &ear g7
Correct : 1 Wrong : 0

Options :

¢ Operating System | TR fgey
# Comnplier | FHYATIT
# Browser | T3

# Editor | U2RT

ol L

Question Number : 90 Question Id : 3354725020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Thesaurus tool in MS Word is used for | UAUE aE H eRE @ T ST _________ ¥ Torg foram SmaT 1

Correct : 1 Wrong : 0
Options :

o0

1. ® Spelling suggestions | &k ad-T gerelt gama

2. ® Grammar options | &g gameoT fEewet

3. ¢ Synonyms and Antonyms words | Tk et Fur faudardf segt
4. # None of the above | IRIFT & & TS 51

Question Number : 91 Question Id : 3354725021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How are data organized in a spreadsheet? | @il # STCT ®1 ¥4 AT [T ATGT 27
Correct: 1 Wrong : 0

Options :
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# Lines and spaces | {@& Ud S/ (ATE T qUH)
# Layers and planes | Id Ud QAT (12R 31 Ta)
¢ Rows and columns | URkT Ua §a¥ (@ 37T Flam
# Height and width | 3= Ua =eTE (i st

5

Question Number : 92 Question Id : 3354725022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS-Word 2007, ‘Zoorr’ option is available on: | THIE g2 2007 #, ‘A AT IgT IUA 51T 5
Correct: 1 Wrong : 0

Options :

1. ® Scroll bar | Gl a)

2. ¥ Home tab | g ea

3. ¥ View option toolbar | I AT AR
4. ® page layout tab | U #3(T3T o

Question Number : 93 Question Id : 3354725023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which shortcut key is used to change line spacing single to 1.5 lines in MS-Word 20077 | TAUE @2 2007 #1.5
TSI | ATg UTET @1 agel & ol T STeehe @i BT SqAATE (2T AT 57

Options :

1. Y Ctrl+5
2. 8 Ctrl+ 2
3. ® Ctrl+1
4. % Ctrl + 3

Question Number : 94 Question Id : 3354725024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

USB refers to a: { USB T4 @1 @gd #<dT &:
Correct : 1 Wrong : 0

Options :

1. ® Storage device | TR fEagq

2. ® Processor | WEER

3. ¢ Port type | U TBT

4. ® Serial bus standard | diiae aq gée2

Question Number : 95 Question Id : 3354725025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following is a storage device that uses rigid, permanently installed magnetic disks to store data or
informatioréz | T d 9 @ 1 o qeRe TEemed § ST ST ST e ded & 6y 3F, QT €0 § Sqeie AT iew fEg@ @

Correct: 1 Wrong : 0

Options :

1. ® Floppy disk | TAT f&qw®

2. ¥ Hard disk | g2 f2q&

3. # Permanent disk | AT &g
4. ® Optical disk | sffcewa 2qF

Question Number : 96 Question Id : 3354725026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& computer consists of: | FHIYET d§ MHA AT §:

Correct : 1 Wrong : 0

Options :

1. ¥ CPU only | Tad g

2. ¥ Memory only | T&d AR

3. ¥ Motherboard only | ¥ regag
4. ¢ all of the above | IWIEHg T

Question Number : 97 Question Id : 3354725027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In which one of the following tabs “New Comment” option is available in M5 Excel 20077 | Fo@T tTa d G &
1 e "= Teruvit ( g @ He) * faeeT THUE UHdd 2007 ¥ Suded 87

Options :

1. ® Data | 22T
2. ® Insert | gAGE
3. ¥ View | g

4. ¥ Review | ey

Question Number : 98 Question Id : 3354725028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The short cut key used to highlight the entire column in MS Excelis_________. | THUE UHdd § QU B 1ed & geAse
F o ey STéepe T T IULNT T ST 3

Correct: 1 Wrong : 0

Options :
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« Ctrl + Space bar
® Ctrl +C

® Ctrl + A

#® Ctrl + Tab

o L

Question Number : 99 Question Id : 3354725029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the smallest and largest font size available in Font Size toolbar in MS Word 20077 | UATE @2 2007 #,
BT |15 gAa) § IUAa Tad §1eT 7T Gad aa] BI-e d15 1T gl 87
Correct: 1 Wrong : 0

Options :

1. ¥ 8and 72 | 83k 72

2. % 8and 64 | 8 3T 64

3. % 12and 72 [ 12 3R 72

4. # None of the above | IWIFT & & FIE 751

Question Number : 100 Question Id : 3354725030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
____________ is NOT a type of network. |

Options :

1. ¥ LAN
2. ¥ WAN
3. v ZAN
4. ® SAN
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